LOSUNG zu bsp-6947-1/SOQN

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 6947

Aufgabe 1

Streiche die Zahlen durch, die sich nicht ohne Rest teilen lassen durch. ...

a) ..durch6:98 99 78 87 28 84 A 54
b) ...durch 4 : 0 VT 46 47 54 37 49 73
¢)...durch 3:49 17 65 81 W 38 61 48

Aufgabe 2

Streiche die Zahlen durch, die sich nicht ohne Rest teilen lassen durch. ...

a) ...durch4:93 1 88 27 63 37 43 48
b) ...durch 9: 16 28 26 56 45 66 46 34
¢) ...durch 6: 51 4 65 77 49 73 63 81
d) ...durch 7: 18 45 37 44 46 80 20 56
e) ...durch 8: 94 29 65 69 15 31 76 44
f) ...durch 10 : 583 M 51 59 27 15 50 30

Aufgabe 3

Streiche die Zahlen durch, die sich nicht ohne Rest teilen lassen durch. ...

a) ...durch 8 : 30 29 16 24 13
b) ...durch 9: W0 22 17 19 18
¢) ...durch4:22 25 14 8 23
d) ...durch 6: 17 24 M 16 12
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LOSUNG zu bsp-6947-1/SOQN

e)...durch7:,]./§ 7 21 W 23
f) ...durch 5: 19 17 20 5 24

Aufgabe 4

Streiche die Zahlen durch, die sich nicht ohne Rest teilen lassen durch. ...

a) ...durch 11 : 246 399 1o4 394 472 198 390
b) ...durch 19:209 257 239 152 245 99 446
c) ...durch 17 : 196 461 119 39 318 389 192
d) ...durch 12 : 433 43T 492 208 356 132 452
e) ...durch 16 : 496 36 323 392 235 151 352
f) ...durch 14 : 25 125 182 285 350 189 179

Viel Erfolg!
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